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] By the .end of 1962, we , the demand for

petroleum. :
A.met B.have met C.had met D.had been meeting
Answer:C
A F IR A by the end of by« , by the time f1 E R &
Fof 1] ) A SO 4, WU B 1A — AR Aot 552 B s 55 4h by the
end of,by+++,by the time,before the end of il 3% 75 4% 3 # B [H]
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5] By the year 2000, scientists probably a cure
for cancer.

A. will be discovering B. are discovering

C. will have discovered D. have discovered

Answer:C

5l Before the end of the eighties,air pollution a
serious problem that jeopardizes the health of the human race.

A. will have become B. becomes

C. will be becoming D. has become

Answer:A

oI to him for some time before I realized who
he was.

A. had been spoken B. had being spoken

C. had been speaking D. had be speaking

Answer:C

“before”d| 5 M W] B ad it , EiE @ H A F B, HEH
g et A B [ P (for some time) IE ZE AT, MU £ 52
B TR .

0. WMER FERSTANES—HHNIERIENG . RIE
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(2) EAFER— B Eu, N SEE R SHEZE CF

)R, WNAEE R F — Rl kR
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(3) I’ﬂiﬁfgﬂ—&ﬂi&ﬂ?‘,M@ﬁJVEEE’ﬂﬁJf’FZﬁﬁZ‘iE,
&ﬁiﬁiﬁﬂﬁ)ﬁﬁf%ﬁﬁﬁﬁﬂf%ﬁiiﬁﬁﬁo

#l The plane circling over the landing field for
fifteen minutes when the pilot was told that he should use the’
Westside Field.

A.has been B.was C.are D. had been

Answer.D

Bl The car at the present speed until it reaches
the foot of the mountain at about ten o’clock tonight.

A. would go B. went C. will be going D. goes

Answer;C

Bl  This is the first time I really relaxed for
months.

A. feel B. have felt C. felt D. will have felt

Answer.B

¥E“This /that/it +is + the first/second +time %7 (+that/
: when-i—m)é’i*ﬂjﬂ*dﬁiﬁ%iﬁ@ﬂﬁ%ﬁﬁﬁﬁ%o

3. ﬁi%'?’,%if&@ﬁ?&ﬁii}ﬁﬁ%%!ﬂﬁ,WN?EE
MTHIES, REREEESHER .

BENE SRR e .

(D #%%'Jﬁibi%ﬁé’ﬂ%ﬁ’ﬁﬁ(&%:&ﬂliﬁﬁ&ﬁ%ﬁﬁi&ﬁ
B S A AT B 25)

@) EEBME B ESESMBENES

*Eﬁii-—*fﬁ@iﬂﬁ’%Eﬁﬁﬁﬂiﬁ%#?ﬁ’ﬁ]¥ii§5i§i§
fij’FZlﬂﬂ\?ﬁ*@ﬁEﬁﬂJ%%JD@?E’E%E@%Z‘S’J@@!’EB‘J%%
%o%Eﬁﬁ‘iﬁ’lﬂ?é’ﬂWIEK%EZEELK@ZIEJ?#WFEEH‘J%EBW
JFEBEMRESR.

27 Between 1897 and 1919 at least 20 motion pictures in
which artificial‘beings were portrayed



A. had produced - B. have been produced
C. would have produced D. had been produced
Answer:D

(1995 4 W FE E AR
% B ENA

Eﬁ’ﬁi)\#%iﬁ*ﬂ?iﬁi’é@iﬂ%iﬁ?ﬁ%*@ﬂﬂiﬁ%E.ﬁv&%
Xﬁ,ﬁoﬁiﬁﬁﬁﬁzﬁﬁ]iﬂZ:ﬁiﬁiﬂ%ﬁ,ﬂﬁﬁiﬁﬂﬁi‘ﬁiﬂ
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1. ﬁiﬂ%ﬂﬁxﬁﬁﬁ%fﬁ]@iﬁ],EEEYLHH:@WL AL i
= AT A A s SR T A R hid R T AR B A 1A

@D) ?ﬁ]‘ﬁﬁﬂ"]ﬁmﬂﬁﬁﬁ:afford,agree,claim,demand,de—
sire expect,fail ,forget ,hope ;promise %, Bk, tell ,show, know
teach Z3E A2 A AT ML — AN EE AN AU

) The students expected there more reviewing
classes before the final exams.

A.is B. being C. have been D. to be

Answer :D _
' (1991 FHFFENZRE)
)% there besss (Fg e+ Y BhiA A E K2 there to be.

5l  The professor can hardly find sufficient grounds

his argument in favour of the new theory.

A. which to base on B. on which to base
C. to base on which . "-D. which to be based on
Answer:B

(1995 SEHF R EANFE IR

(@) ERHATERERFN BN H A

advise ,allow ,cause scaution ,command scondemn yenable ,for-



bid, force, obligate, permit, request 3, 55 4b, {# % 317 make,
have,let %E‘Eﬁif‘liﬁ*%ﬂﬁﬁiﬁ%/@iﬁwsifliﬁl%%ﬂﬂ(’% to.

B His father did not allow him to Beijing with
his friends.

A. going B.go + C.togo D. to going

Answer.C ;

#] The team really looks good tonight because the coach
had them every night last week.

A. practise B.to practise
C. practised : D. practice
Answer . A

(3) BREBLZ L7827 5. avoid, finish, delay, mind,
waste, feel like,suggest % HABEEEORE MR P A
W EREE, BRI BIR EIE— R4 U T = RE 5

a. fUARAERK.

Jack was chosen because of his being a fully qualified engi-
neer.

b. AT 16 (&R L4544 by i) .

They rely on Wang Fei’s coming in time.

c. @iﬂ%’ziﬁﬁ(%iﬁlgf‘é%iﬁ%%ﬁi):

Their is no question of the bike being in order,

lﬂ’.:‘v'l‘,ﬁﬁifﬁ:ﬁ";"ﬁﬁ%‘iﬁ]\%iﬁiﬁ@&@j%iﬂ,m busy,
trouble,difficulty %,

Bl Does he have difficulty English?

A. to speak -B. speak C. speaking D. spoke

Answer:C

2. BAEN AR 4 A0 K 5

ﬂ"ﬁ?ﬁiﬁ"]ﬁlﬁfﬁiﬁiﬁ#i‘fﬁ?*iﬂﬁ%ﬁﬁﬁﬁﬁ*ﬁﬁ(E
& RiF B ,Zﬁﬂiﬁﬂﬁﬁﬁiﬁiﬁl‘&iﬁZﬁ.ﬂEﬁiﬁ
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(1) ridfERE

)| to continue his study,he quitted school.

A. Not wishing B. Wishing not

C. Having not wished D. In order not to wish

Answer: A

& . of the burden of ice,the balloon climbed up
and drifted to the south.

A. To be free B. Freeing: C. To free D. Freed

Answer:D

(1992 FEHRAENZF KB

(2) SriAlfEE &

5l Snow was falling when they went along a mountain
path to the front. ;

A. to lead B. led C. leading D. being led

Answer;C

3. il M 3L 4544

LR EERER A A S LB RIS X A
PRAMALEE . A MRS S5 AR R ARIT A 7 B REE O
] SRR (A] L R A AR A

5l The weather fine,they decided to go out for a
stroll. :

A.is . B.was C. being D. having been

Answer:C

f5l Ford tried dividing the labour,each worker _a
seperate task.

A. being assigned B. assigned



C. having assigned D. to be assigned

Answer:B

4. FRBEHAYHRSHES

(1) AR E B BHIA 09 S AE 54 818 Shirl i ShE R it & 4, 38
EAEA KRR,

@) FEEHAGHEETENEZNR A BB RS
AR, .

Q) WBEHER LR, T EIANSHEEE LR E, X0, 3
HESRIEASETR.

(4) mRIEHE SHIAR 2 18 5 R B A E RS
X A EE SR E AR,

&y that Easten had got promoted, his {riends

came to congratulate him on that.

A. Having been heard B. Being heard
-C. To have heard D. Having heard
Answer:D %ii]ﬂ

¢l three times in a row,the boxer decided to
give up fighting.

A. Because having been defeated

B. Because he have been defeated

C. Having been defeated

D. Having defeated

Answer:C

Bl Electrons are known continuously.

A. moving B. to be moving

C. being moved D. to be moved

Answer ;B
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EEFEREIES S AL HOEM L, HERETIE RS
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1. BRESHEEHE G, TAERSAEETHR,
IR 5 F ISR L B A ] hid AL 5 A A B AR
WEIERIE, EaER %, X, AN BRERERROR
GE 3k '

Bl 1 you Jerry brown until recently,you’d think
the photograph on the right was strange.
A. shouldn’t contact B. didn’t contact
C. weren’t to contact D. hadn’t contacted
Answer:D : :
(1993 FEFFRENFIXE)
] 1 I had a bike,I it to you yesterday.
A. would lend : B. would have lent
C. would have been lent D. would lent
Answer:B

2. % EE L& N P Y if ek, B BhiA were,should,had
2457 10 48 B 80 6060 8 5 24 B Bhid JE 4 7 5 17 ot B, I ot
R IR e 0 43 8 A 3, B R AR R B Bhid — B IR P AE .
> @  today,he would get there Friday. -

A. Was he leaving - B.If he leaves

C. Were he to leave D. If he is leaving

Answer:C

7 got up late,he would have caught the train.

A.Hadn’t he B.He hadn’t C.Had he not D.]If he had



Answer:C
3. if 5only &, ALAGIHEMEZERENG, BBREHE
7 BT %A £ ETIEE S B A R Ead F 5
i
] If only we as we were told! This would never

have happened.

A. had done B. would come
C.do D. did
Answer: A

4. But that BE#ZA, I HHBRBRMENDFEAEENE

B B NEESDAM — ol £ S EARE M “should, would,
could+have+ﬂfﬁﬂ"i‘57rﬁ£‘ﬁﬁm{ﬁﬂ

5] But that he saw it,he it.

A. could not have believed

B. did not believe

C. could not believe

D. can’t believe .

Answer: A
. “Be+XiF+FRiIE"REMILE NG —FEHER, LR
%ﬂii‘%?ﬁlﬁiﬂé@ﬁﬁﬂo
15 1 will man:y him all the same.

A. Were he rich or poor

B. Being rich or poor

C. Be he rich or poor

D. Whether rich .or poor

Answer:C

6. FHIIEFAEEEILIES. FFIEA otherwise ALE £ T
SORFR BRI 5 1 RAR AR B LR IR M %,

Bl He was very busy yesterday;otherwise he to



the meeting.

A. would come B. came
C. would have come D. should come
Answer :C

M. 5]’ otherwise’ #1124 T if he hadn’t been very busy yester-
day.

but G549 th 7T B il £ F3ORRRBIRAER . EXF
Zepyeh,but [ERRRME—EE, TAIHEH NG FHRREPHES
5MEFEMR.

27/ .| her to the party but I don’t know her well.
A. would have invited B. would invite

C. invited D. didn’t invite

Answer: A

e “«-but I don’t know her well.” #1 24 F If 1 knew her
well A FHEENE B S L FERMR, Bk LEFA"F
R

7. FEPFEEERMNAMEETOET R AEBR KT
R ah4 R 4 R ER S HIE G RIE N, LR R
0 T 2R 22 3B BT Ge fE S 4T717) that 31 SR EB M, LU B
HIXE L #Y 4 1715 71 (7 60 M A0 %5, 1 3% 3 17 JU B2 T “should do” 2
“do”fEEERREMES.

] 1t is necessary that an efficient worker his

work on time.

A. finishes B. can finish

C. finish D. has finished

Answer :C

@l They proposed that the demonstration in their

new show-rooms.
A. to take place B. took place
10



C. taking place D. should take place

Answex;;D-

8. would rather/would just as soon EERENG, R S8
that, ERFEAGFIEEHAEH — Bt EM BRI RIES W RE
Wy 1E, R £ R R R E A S

B She says she would rather he tomorrow in-
stead of today.

A. had left B. left
C. should leave D. leaves
Answer:B

9. Eu%*ﬁﬁ] lest,for fear that 1 in case 5|t B RIE N A
&, BT E (should+)do,

Bl He is working hard for fear that he

A. should fall behind

B. fall behind

C. may fall behind

D. would fall behind

Answer: A

Fwd kA +}Aﬁmﬁiﬂf

BEFEEN S R 8 25 301 + TR e B 6 2 5, FE
DA RFHFRE T BFER UF R EER,

L XM ERENEEEL S SO, %8 myst +have
~+done.

Bl Since the ditch is full of water, last night.
A. it must be raining
B. there must have rain

C. it must have rained

11



